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Partial Differentials {B# %5

Af = floe+ Az, y+ Ay) — f(z,y)

[f(z+ Az, y+ Ay) — f(zy+ A+ [f(z,y + Ay) — f(z,9)]
fo(x + 0102,y + Ay) Az + fy(z,y + 020y)Ay, (0< 60,00 <1)
= fa(z,y) Az + fy(z,y) Ay + e1 Az + 1Ay

£ = f _ im fltdzy) - flz,y)
dr  Az—0 Az
= o _ m @yt Ay - fley)
y = 5=
dy  Ay—0 Ay

€1 = fa(o+ 0102,y + Ay) — fo(z,y)
e2 = fylz,y+028y) — fy(z,y)

8 0 ol A
i = folon)de + fo(e,y)dy = a—f‘l‘” + a—idf‘f S5 (E—ELMS)

F = f(zx+ Az, y+ Ay) — f(z + Az, y) F = f(z+ Az, y+ Ay) — f(z,y + Ay)
—[f(z,y + Ay) — f(z,y)] —[f(z + Az,y) — f(z,y)]
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(X+Ax, y+Ax)
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(x.y) (X+AX, y)
o(z)y = flz,y+ Dy) — f(z,y) o) = flz+ Az,y)— f(x,y)
(@) = folo,y+ Ay) - fela,y) ¢ = fule+ Da,y) - fy(z,y)
F = p(z+ Az) — o(x) F = ¢(y+ Ay) — ¢(y)

Az (z+ 0Ax) Dyd'(y + 010y)
Azx{fs(z+ 0Dz, y+ Ay) — fo(z+ 0A2,y)} Ay {fy(x + Az, y+010y) — fy(z,y+ 01Ay)}
= AzAyfey(z+ 0Dz, y+ 0' Ay) = AzAyfy:(z + 9’1A1’, y+ 01Ay)

AX,Ay =0, f =T
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[+ Az,y+ Ay) — f(z,y + Ay)

Af

Af

daf

= Azfi(z,y+ Ay) +
= Az{fe(z,y) + Dyfay(z,y + 02Ay)}
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= f(z+ Az, y+ Ay) — f(z,y)
= [flz+ Az,y+ Ay) — f(z,y + Ay)]

+f(z.y + Ay) — f(z,9)]
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